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M.A. (THIRD SEMESTER)
EXAMINATION, Dec. - Jan., 2021-22

(ECONOMICS)
(Paper Fifth

(Demography)

Time : Three Hours] [Maximum Marks:80

(1 Mark each)



Note : Attempt all Sections as directed.



Section-A
 

(Objective/Multiple choice questions)



Attempt all questions.



1. "population problems" (1930) 

(A)    (B)  

(C)   (D) 

P.T.O.
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Who is the writer of 'population problems (1930)'?

(A) Warein M. thomson Lewis

(B) Achile Guilard

(C) Bengamin-B

(C) P.R. Cox

2.       


(A)   (B) 

(C)   (D) 

Whose statement is that "social mobility is the movement
of individuals across social gaps"?

(A) Soroking, P.A.

(B) Levasseur

(C) Benjamin, B

(D) Lewis

3. 

(A)   

(B)  

(C)   

(D)   

'One night system' of census method  known as:

(A) Autofacto method

(B) De-facto method

(C) De-jure method

(D) Period enumeration system
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 'Demography' 
(A)   (B) 
(C)  (D)   
Who first used  the word 'Demography'?
(A) Achile Guilard
(B) Levasseur
(C) Malthus
(D) Donald. J. Bogue

5. CBR= 
B K
P  

(A) 

(B) 

(C)  

(D) 

What can be inferred from the formula CBR= 
B K
P  ?

(A) Crude birth rate

(B) General brith rate

(C) Total fertility rate

(D) Refind birth rate

6. 

(A)
F K
M (B)

M K
F

(C)
K F
M (D)

K M
F

P.T.O.
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Formula  for gender ratio is -

(A)
F K
M (B)

M K
F

(C)
K F
M (D)

K M
F

7. 

(A)  

(B)  
(C) 
(D) 

Population Pyramid presents.

(A) Age & Sex Structure

(B) Density of population

(C) Age Structure

(D) Sex Structure.

8. 

(A)  
(B) 
(C) 
(D) 

Who gave first the concept of "Life. Table"

(A) William Patty

(B) Grant

(C) Euler

(D) Bogue
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9. 


(A) 

(B)  

(C) 

(D) 

According to Malthus theory increase in population in hap-
pen in this order -

(A) Arithmetic order

(B) Geometrical order

(C) unbalanced order

(D) None of the above.

10.
A OM

O   

(A) 

(B) 

(C)  

(D) 

A OM
O  This formula is related to

(A) Over population

(B) Under population

(C) Optimum population

(D) No one
P.T.O.
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11. 

(A) 

(B)   

(C)    

(D) 

Which of the following is not an economic factor of ur-

banization?

(A)  Industrialization

(B) Capital & Technical Facility

(C) Development of transporting

(D) Health & Entertainment center.

12. 

(A)  (B) 

(C)  (D) 

In the history of Census in India which year is called 'Great

dividing year?

(A) 1971 (B) 1951

(C) 1921 (D) 1911

13.    

(A)  (B) 

(C)  (D) 
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'Pull factors' and 'Push factors' are related to ;

(A) Migration (C) Fertility

(B) Life Table (D) Non of the above

14. 

(A)   (B)  

(C)   (D)  

According  to the census 2011 urbon & Rurel sex ratio is

(A) 946 & 932

(B) 946 & 929

(C) 939 & 929

(D) 946 & 910

15.  

(A)   

(B)   

(C) 

(D) 

Women empowerment policy started in-

(A) 20 March 2000

(B) 19 March 2000

(C) 20 March 2001

(D) 20 March 2002

P.T.O.
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16. 

(A) 

(B) 

(C) 

(D) 

Theory of demographic transition related to-

(A) Notestein (B) Blacker

(C) Thompson (D) All of the above

17. 


(A)  (B)  

(C)  (D) 

In which of these  the probabilities regarding survival and
death of different age group are?

(A) Life table (B) Population Pyramid

(C) Birth rate (D) Sex Ratio

18. 

(A)  (B) 

(C)  (D) 

Which state of India  has the highest Human Develop-
ment Index?

(A) Tamilnadu (B) Panjab

(C) Kerla (D) Hariyana
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19. 

(A)   (B) W. B. 

(C)    (D)

Which of the following is the international publication of

demographic data?

(A) Demographic year book

(B) W.B. Report

(C) R.B.I. Publication

(D) None of the above

20. 



(A) 

(B) 

(C) 

(D) 

When did the collection of data by registration method

started in india?

(A) 1844

(B) 1843

(C) 1942

(D) 1944

P.T.O.
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

Section - B

(2 marks each)



(Very short answer type questions)



Attempt any 8 question.



Maximum word limit 30- 40 words

1. 

What do you mean by birth rate & death rate.

2. 

Give the difintion of urbnization

3. 

What do you understand by life expectancy.

4.    

Write the formula for standerdized death rate.

5. 

What do we measure by lorenz curve and gini ratio?

6. 

What is dependency ratio?

7.   

Who give the word demography &  When?



[11]

F-628

8. 

What is the diffeence between net birth rate and gross
birth rate?

9. 

What do you understand by human resource develop-
ment?

10. 

What is infant mortality rate?



Section - C

(3 Marks each)

 

(Short Answer Type Questions)



Attempt any 8 questions in 75 words.

1.   

Explain the theory of demographic transition.

2. 

What do you under stand by over population?

3. 

What do you understand by women empowerment?

4. 

Analyse population piramids.

P.T.O.
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5.           


What is fertility? Explain the factors affecting fertility?

6. 


What is mortality? explain the factor affecting Mortality.

7. 

What is projection? write it' s importance.

8. 

What are the reasons for Gender difference in Inida.

9.  

Analyse the main features of Malthus population theory.

10. 

What is internal migration & International migration?



Section-D

(5 Mark Each)



(Long answer type questions)



Note- Attempt all questions. Maximum150 words.

1.    

     
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Define the demography & its importance.



Or




What assumptions is the optimum population theory
based on?

2.          


Explain different Methods of measurement of mortality.
Or


  

Write the kinds and factors affecting of migration.

3.       

Explain determinalnts of Fertility.



Or



(A) 

(B) 

(C)  
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Write short note one any two.

(A) Gross reproduction rate

(B) Net reproduction rate.

(C) Total Fertility rate

 

Explain the role of  human resource development in eco-
nomic development.



Or




What are the various indicators of women empowerment?
explain in brief.


